

Created Date 6/28/2018 Expiration Date 7/28/2018

Prepared By Colleen Burns

Email colleen.burns@greatminds.org

Bill To Name Tucson Unified School District

Bill To 1010 E 10th St

Tucson, AZ 85719

US

Quote Number 00036303

Contact Name Heidi Aranda

Email heidi.aranda@tusd1.org

Ship To Tucson Unified School District

Ship To 1010 E 10th St

Tucson, AZ 85719

US

Make payment to: Great Minds

Mail payment to: Great Minds

55 M Street SE, Suite 340 Washington, DC 20003 Phone (toll free): 844-853-1010

Fax: 202-449-9504

Email: ordertracking@greatminds.org

Product	Product Description	ISBN	Standard Price	Discount	Quote Price	Quantity	Total Price
Eureka Math Algebra I Class Student Edition Set 25	Eureka Math- A Story of Functions: Algebra I Class Set 25 Student Workbooks #1-2 (Modules 1-5)	978-1-63255-717-9	\$722.25	40.00%	\$433.35	1.00	\$433.35
Eureka Math Algebra I Class Student Edition Set 30	Eureka Math- A Story of Functions: Algebra I Class Set 30 Student Workbooks #1-2 (Modules 1-5)	978-1-63255-716-2	\$866.70	40.00%	\$520.02	80.00	\$41,601.60
Eureka Math Algebra I Student Edition Set (Modules 1-5; Books #1 & 2)	Eureka Math- A Story of Functions: Algebra I Student Set Student Workbooks #1 & 2 (Modules 1-5)	978-1-63255-326-3	\$29.96	40.00%	\$17.98	1.00	\$17.98
Eureka Math Algebra II Class Student Edition Set 30	Eureka Math- A Story of Functions: Algebra II Class Set 30 Student Workbooks #1-2 (Modules 1-4)	978-1-63255-804-6	\$866.70	40.00%	\$520.02	44.00	\$22,880.88
Eureka Math Algebra II Student Edition Set (Modules 1-4; Books #1 & 2)	Eureka Math- A Story of Functions: Algebra II Student Set Student Workbooks #1 & 2 (Modules 1-4)	978-1-63255-332-4	\$29.96	40.00%	\$17.98	6.00	\$107.86
Eureka Math Digital Suite: PK-12, 12-month subscription	Eureka Math - A Story of Units, Ratios, and Functions Digital Suite Online Version (Navigator), Grades PK-12 + Teach Eureka PD Video Series, 12-Month Subscription	978-1-63255-219-8	\$190.00	100.00%	\$0.00	1,883.00	\$0.00
Eureka Math Geometry Class Student Edition Set 20	Eureka Math- A Story of Functions: Geometry Class Set 20 Student Workbooks #1-2 (Modules 1-5)	978-1-63255-803-9	\$577.80		\$577.80	1.00	\$577.80



Eureka Math Geometry Class Student Edition Set 25	Eureka Math- A Story of Functions: Geometry Class Set 25 Student Workbooks #1-2 (Modules 1-5)	978-1-63255-802-2	\$722.25		\$722.25	1.00	\$722.25
Eureka Math Geometry Class Student Edition Set 30	Eureka Math- A Story of Functions: Geometry Class Set 30 Student Workbooks #1-2 (Modules 1-5)	978-1-63255-801-5	\$866.70	40.00%	\$520.02	35.00	\$18,200.70
Eureka Math Geometry Student Edition Set (Modules 1-5; Books #1 & 2)	Eureka Math- A Story of Functions: Geometry Student Set Student Workbooks #1 & 2 (Modules 1-5)	978-1-63255-329-4	\$29.96		\$29.96	2.00	\$59.92
Eureka Math Grade 1 Learn Workbook Set (Modules 1-6)	Eureka Math - A Story of Units: Learn Workbook Set, Grade 1 (Modules 1-6)	978-1-64054-054-5	\$26.00	38.46%	\$16.00	3,845.00	\$61,521.54
Eureka Math Grade 2 Learn Workbook Set (Modules 1-8)	Eureka Math - A Story of Units: Learn Workbook Set, Grade 2 (Modules 1-8)	978-1-64054-059-0	\$26.00	38.46%	\$16.00	3,920.00	\$62,721.57
Eureka Math Grade 3 Learn Workbook Set (Modules 1-7)	Eureka Math - A Story of Units: Learn Workbook Set, Grade 3 (Modules 1-7)	978-1-64054-064-4	\$26.00	38.46%	\$16.00	3,946.00	\$63,137.58
Eureka Math Grade 4 Learn Workbook Set (Modules 1-7)	Eureka Math - A Story of Units: Learn Workbook Set, Grade 4 (Modules 1-7)	978-1-64054-070-5	\$26.00	38.46%	\$16.00	4,201.00	\$67,217.68
Eureka Math Grade 5 Learn Workbook Set (Modules 1-6)	Eureka Math - A Story of Units: Learn Workbook Set, Grade 5 (Modules 1-6)	978-1-64054-075-0	\$26.00	38.46%	\$16.00	4,244.00	\$67,905.70
Eureka Math Grade 6 Class Student Edition Set 30	Eureka Math- A Story of Ratios: Grade 6 Class Set 30 Student Workbooks #1-3 (Modules 1-6)	978-1-63255-707-0	\$866.70	40.00%	\$520.02	130.00	\$67,602.60
Eureka Math Grade 6 Student Edition Set (Modules 1-6; Books #1-3)	Eureka Math- A Story of Ratios: Grade 6 Student Set Student Workbooks #1-3 (Modules 1-6)	978-1-63255-315-7	\$29.96	40.00%	\$17.98	8.00	\$143.81
Eureka Math Grade 7 Class Student Edition Set 30	Eureka Math- A Story of Ratios: Grade 7 Class Set 30 Student Workbooks #1-3 (Modules 1-6)	978-1-63255-710-0	\$866.70	40.00%	\$520.02	118.00	\$61,362.36
Eureka Math Grade 7 Student Edition Set (Modules 1-6; Books #1-3)	Eureka Math- A Story of Ratios: Grade 7 Student Set Student Edition Books #1-3 (Modules 1-6)	978-1-63255-319-5	\$29.96	40.00%	\$17.98	2.00	\$35.95
Eureka Math Grade 7 Student Edition Set (Modules 1-6; Books #1-3)	Eureka Math- A Story of Ratios: Grade 7 Student Set Student Edition Books #1-3 (Modules 1-6)	978-1-63255-319-5	\$29.96	40.00%	\$17.98	88.00	\$1,581.89
Eureka Math Grade 8 Class Student Edition Set 30	Eureka Math- A Story of Ratios: Grade 8 Class Set 30 Student Workbooks #1-3 (Modules 1-7)	978-1-63255-713-1	\$866.70	40.00%	\$520.02	124.00	\$64,482.48



Eureka Math Grade 8 Student Edition Set (Modules 1-7; Books #1-3)	Eureka Math- A Story of Ratios: Grade 8 Student Set Student Workbooks #1-3 (Modules 1-7)	978-1-63255-323-2	\$29.96	40.00%	\$17.98	8.00	\$143.81
Eureka Math Grade K Fluency Practice Workbook (Modules 1-6)	Eureka Math - A Story of Units: Practice Workbook, Grade K Fluency, Modules 1-6	978-1-64054-552-6	\$6.00	0.00%	\$6.00	3,743.00	\$22,458.00
Eureka Math Grade K Learn Workbook Set (Modules 1-6)	Eureka Math - A Story of Units: Learn Workbook Set, Grade K (Modules 1-6)	978-1-64054-080-4	\$26.00	38.46%	\$16.00	3,743.00	\$59,889.50
Eureka Math Pre-Calculus and Advanced Topics Class Student Edition Set 25	Eureka Math- A Story of Functions: Pre-Calculus and Advanced Topics Class Set 25 Student Workbooks #1-2 (Modules 1-5)	978-1-63255-808-4	\$722.25	40.00%	\$433.35	1.00	\$433.35
Eureka Math Pre-Calculus and Advanced Topics Class Student Edition Set 30	Eureka Math- A Story of Functions: Pre-Calculus and Advanced Topics Class Set 30 Student Workbooks #1-2 (Modules 1-5)	978-1-63255-807-7	\$866.70	40.00%	\$520.02	10.00	\$5,200.20
Homework Helpers Digital Subscription	Eureka Math Homework Helpers Digital Access, Grades K-12, One School Year Subscription		\$5.00	100.00%	\$0.00	40,195.00	\$0.00
Spanish - Eureka Math - Grade 1 Class Student Edition Set 30	Eureka Math-A Story of Units: Grade 1 Class Set 30 Student Workbooks #1-4 (Modules 1-6) - Spanish	978-1-68386-483-7	\$866.70	40.00%	\$520.02	12.00	\$6,240.24
Spanish - Eureka Math - Grade 1 Student Edition Set (Modules 1-6; Books #1-4)	Eureka Math- A Story of Units: Grade 1 Student Set Student Workbooks #1-4 (Modules 1-6) - Spanish	978-1-68386-202-4	\$29.96	40.00%	\$17.98	16.00	\$287.62
Spanish - Eureka Math - Grade 1 Teacher Edition Set (Books #1-6; Modules 1-6)	Eureka Math- A Story of Units: Grade 1 Set Teacher Edition Books #1-6 (Modules 1-6) - Spanish	978-1-68386-118-8	\$147.70		\$147.70	1.00	\$147.70
Spanish - Eureka Math - Grade 2 Class Student Edition Set 30	Eureka Math-A Story of Units: Grade 2 Class Set 30 Student Workbooks #1-4 (Modules 1-8) - Spanish	978-1-68386-489-9	\$866.70	40.00%	\$520.02	12.00	\$6,240.24
Spanish - Eureka Math - Grade 2 Student Edition Set (Modules 1-8; Books #1-4)	Eureka Math - A Story of Units: Grade 2 Student Set Student Workbooks #1-4 (Modules 1-8) - Spanish	978-1-68386-207-9	\$29.96	40.00%	\$17.98	9.00	\$161.78
Spanish - Eureka Math - Grade 2 Teacher Edition Set (Books #1-7; Modules 1-8)	Eureka Math- A Story of Units: Grade 2 Set Teacher Edition Books #1-7 (Modules 1-8) - Spanish	978-1-68386-126-3	\$147.70		\$147.70	1.00	\$147.70



Spanish - Eureka Math - Grade 3 Class Student Edition Set 30	Eureka Math-A Story of Units: Grade 3 Class Set 30 Student Workbooks #1-4 (Modules 1-7) - Spanish	978-1-68386-495-0	\$866.70	40.00%	\$520.02	11.00	\$5,720.22
Spanish - Eureka Math - Grade 3 Student Edition Set (Modules 1-7; Books #1-4)	Eureka Math - A Story of Units: Grade 3 Student Set Student Workbooks #1-4 (Modules 1-7) - Spanish	978-1-68386-212-3	\$29.96	40.00%	\$17.98	8.00	\$143.81
Spanish - Eureka Math - Grade 4 Class Student Edition Set 20	Eureka Math-A Story of Units: Grade 4 Class Set 20 Student Workbooks #1-4 (Modules 1-7) - Spanish	978-1-68386-503-2	\$577.80	40.00%	\$346.68	2.00	\$693.36
Spanish - Eureka Math - Grade 4 Class Student Edition Set 30	Eureka Math-A Story of Units: Grade 4 Class Set 30 Student Workbooks #1-4 (Modules 1-7) - Spanish	978-1-68386-501-8	\$866.70	40.00%	\$520.02	9.00	\$4,680.18
Spanish - Eureka Math - Grade 5 Class Student Edition Set 20	Eureka Math-A Story of Units: Grade 5 Class Set 20 Student Workbooks #1-3 (Modules 1-6) - Spanish	978-1-68386-509-4	\$577.80	40.00%	\$346.68	1.00	\$346.68
Spanish - Eureka Math - Grade 5 Class Student Edition Set 30	Eureka Math-A Story of Units: Grade 5 Class Set 30 Student Workbooks #1-3 (Modules 1-6) - Spanish	978-1-68386-507-0	\$866.70	40.00%	\$520.02	10.00	\$5,200.20
Spanish - Eureka Math - Grade 5 Student Edition Set (Modules 1-6; Books #1-3)	Eureka Math - A Story of Units: Grade 5 Student Set Student Edition Books #1-3 (Modules 1-6) - Spanish	978-1-68386-221-5	\$29.96	40.00%	\$17.98	2.00	\$35.95
Spanish - Eureka Math - Grade 6 Class Student Edition Set 30	Eureka Math-A Story of Ratios: Grade 6 Class Set 30 Student Workbooks #1-3 (Modules 1-6) - Spanish	978-1-68386-513-1	\$866.70	40.00%	\$520.02	14.00	\$7,280.28
Spanish - Eureka Math - Grade 6 Student Edition Set (Modules 1-6; Books #1-3)	Eureka Math- A Story of Ratios: Grade 6 Student Set Student Workbooks #1-3 (Modules 1-6) - Spanish	978-1-68386-225-3	\$29.96	40.00%	\$17.98	12.00	\$215.71
Spanish - Eureka Math - Grade 7 Class Student Edition Set 25	Eureka Math-A Story of Ratios: Grade 7 Class Set 25 Student Workbooks #1-3 (Modules 1-6) - Spanish	978-1-68386-520-9	\$722.25	40.00%	\$433.35	1.00	\$433.35
Spanish - Eureka Math - Grade 7 Class Student Edition Set 30	Eureka Math-A Story of Ratios: Grade 7 Class Set 30 Student Workbooks #1-3 (Modules 1-6) - Spanish	978-1-68386-519-3	\$866.70	40.00%	\$520.02	14.00	\$7,280.28
Spanish - Eureka Math - Grade 7 Student Edition Set (Modules 1-6; Books #1-3)	Eureka Math - A Story of Ratios: Grade 7 Student Set Student Edition Books #1-3 (Modules 1-6) - Spanish	978-1-68386-229-1	\$29.96		\$29.96	5.00	\$149.80



	Eureka Math-A Story of Ratios: Grade 8						
Spanish - Eureka Math - Grade 8 Class Student Edition Set 20	Class Set 20 Student Workbooks #1-3 (Modules 1-7) - Spanish	978-1-68386-527-8	\$577.80	40.00%	\$346.68	1.00	\$346.68
Spanish - Eureka Math - Grade 8 Class Student Edition Set 30	Eureka Math-A Story of Ratios: Grade 8 Class Set 30 Student Workbooks #1-3 (Modules 1-7) - Spanish	978-1-68386-525-4	\$866.70	40.00%	\$520.02	13.00	\$6,760.26
Spanish - Eureka Math - Grade 8 Student Edition Set (Modules 1-7; Books #1-3)	Eureka Math- A Story of Ratios: Grade 8 Student Set Student Workbooks #1-3 (Modules 1-7) - Spanish	978-1-68386-233-8	\$29.96	40.00%	\$17.98	2.00	\$35.95
Spanish - Eureka Math - Grade K Class Student Edition Set 20	Eureka Math-A Story of Units: Grade K Class Set 20 Student Workbooks #1-4 (Modules 1-6) - Spanish	978-1-68386-479-0	\$577.80	40.00%	\$346.68	1.00	\$346.68
Spanish - Eureka Math - Grade K Class Student Edition Set 25	Eureka Math-A Story of Units: Grade K Class Set 25 Student Workbooks #1-4 (Modules 1-6) - Spanish	978-1-68386-478-3	\$722.25		\$722.25	1.00	\$722.25
Spanish - Eureka Math - Grade K Class Student Edition Set 30	Eureka Math-A Story of Units: Grade K Class Set 30 Student Workbooks #1-4 (Modules 1-6) - Spanish	978-1-68386-477-6	\$866.70	40.00%	\$520.02	12.00	\$6,240.24
Spanish - Eureka Math - Grade K Teacher Edition Set (Books #1-6; Modules 1-6)	Eureka Math- A Story of Units: Grade K Set Teacher Edition Books #1-6 (Modules 1-6) - Spanish	978-1-68386-111-9	\$147.70		\$147.70	1.00	\$147.70

 Subtotal
 \$1,776,782.99

 Discount
 57.76%

 Total Price
 \$750,445.20

 Shipping Charges
 \$48,721.53

 Sales Tax
 \$45,777.16

 S&H Tax
 \$0.00

 Grand Total
 \$844,943.89

### **Great Minds Policies**

Returns: Returned items must be received within 45 days of receipt. Returned items will incur a \$50 return fee and 10% restocking fee and damaged items will not be credited. A completed return authorization will be required for processing.

Reporting Missing/Damaged Materials:

Damaged and missing materials must be reported



to Customer Success via <a href="mailto:shipping@greatminds.org">shipping@greatminds.org</a> within 10 days of arrival in order to be replaced at no cost.